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Grade 8

Dec 5, 2018

Assessment Review

1) Find the missing length

2) Given the integers  ­2, +10, ­7, +3, ­8 , which two would give 
the greatest product? 

NO CALCULATORS

3) find the value of y given   7 + 2y = 21 

4) Estimate √39

3) Evaluate (­18)÷(+2) ­ (+4)x(+2)
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Translation­ is a slide of a shape in a straight line 
                   ­ arrow is used to show the movement

                  ­ the translated image and the shaded shape are 

                  congruent and have the same orientation

1 unit

A'

translation arrow

­The shaded shape D is translated ____ units ____  to give 
translated image A'

6 left 

D



gr 8 u8 geom day 6 Ident Transformations JUNE 2017.notebook December 05, 2018

Reflection­ find horizontal line of reflection (marked with red)
                       *Shape D is reflected in the red line. It reflects image   

                          is Shape B

                   ­ Find vertical line of reflection (marked with green)   

                            * The shape D is reflected in the green line of 

                              reflection. Its reflection image is Shape C            
     

1 unit

6

D

B

C
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Rotation­ need a point of rotation
                   ­ The shaded shape D is rotted 180o clockwise about the 

                      point of rotation(marked with a BIG  dot). The rotation 

                     image is shape K

                  ­ rotation image of 180 are congruent 

1 unit

6

K
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Constructing Tessellations

When congruent copies of a shape cover a plane with no overlaps or gaps, we say the 
shape tessellates.

The design created is called a tessellation.

For copies of a polygon to tessellate, the sum of the angles at any given point 
where vertices meet must be 360.

*Not all shapes tessellates

90o

90o
90o

90o
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Discuss examples

All triangles and 
quadrilaterals will 
tessellate.

A quadrilateral that is concave has an angle 
exceeding 180o. In either case, the quadrilateral is 
simple, which means that the four sides of the 
quadrilateral only meet at the vertices, two at a time. 
So that two non­adjacent sides do not cross. A 
quadrilateral that is not simple is also known as self­
intersecting to indicate that a pair of his non­
adjacent sides intersect.
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Does the shape tessellate? (You actually have to trace it out. My want to 
cut an image out and move around)

Do on Black board
b)a)
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